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white correcting fluid is not allowed. Q.1
1) The largest number of molecules are present in
(A) 3.6 g of H,O (B) 48 gof C,H,OH (C) 2.8gofCO D) 5.4 gof N,0;
2) The volume occupied by 1.4 gof N, atS.T.Pis
(A) 2.24 dm’ (B) 22.4 dm’ (©) 1.12 dm’ D) 112 cm’®

3) Solvent extraction is an equilibrium process and is controlled by
(A) Law of mass action (B) Amount of solvent used (C) Distribution Law (D) The amount of solute
4) Equal masses of methane and oxygen are mixed in an empty container at 25 °C . The fraction of
total pressure exerted by oxygen is

A) ®) % © % )/,

5) The molar volume of CO, is maximum at

(A) STP (B) 127°C and1atm (C) 0°C and2atm/ (D) 273 °C and 2 atm
6) Acetone and chloroform are soluble in each other due to |

(A) Intermolecular (B) Ion-dipole : (C) Instantaneous (D) All of the above

hydrogen bonding interaction dipole

7) Molecules of CO, in dry ice form the :

(A) lonic crystals (B) Covalent crystals™, (€) Molecular crystals (D) Any type crystal
8) The wave —----- number of the light emitted by.a certain Soyrce is 2x10° m™. The wave-length

of this light will be ™

(A) 500 nm (B) 500'm (C) 200 nm (D) 5x10" m
9) When 6d orbital is complete, the entering el‘éc’:'_tron-gﬂes' into

(A) 7f G G adE (O 7p (D) 7d
10) Which of the following/melecples has zero dipole-moment?

(A) NH, (B)€HCl, (C©) H,0 (D) BF,
11) Which of the hfdregen halides has the highest percentage of ionic character?

(A) HC (B) HBr (C) HF (D) HI
12) Calorie is equivalent to

(A) 0.4184) (B)41.84) (C)4.184) (D) 4184 ]
13) The pH of 107 mol dm™ of an aqueous solution of H,S0, is

(A) 3.0 (B) 2.7 (©)2.0 (D) 1.5

14) The solubility product of AgClis 2.0x10™"° mol® dm™. The maximum conc of Ag" ions in the solution is.
(A) 2.0x107° mol dm=> (B) 1.41x107° mol dm™ (C) 1.0x107° mol dm™ (D) 4.0x10™ mol dm™
15) Molarity of pure water is
(A 1 (B) 18 () 555 (D) 6
16) If the salt bridge is not used between two half cells, then the voltage

(A) Decreasesrapidly  (B) Decreasesslowly ~ (C) Doesnotchange (D) Drops tozero
17) The unit of the rate constant is the same as that of the rate of reaction is

(A) 1storderreaction (B) 2nd order reaction (C) Zero order reaction (D) 3rd order reaction
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y Answer briefly any Eight parts from the followings:- 8 x2=16
(i)  No individual neon atom in the sample of element has a mass of 20.18 amu. Explain.
(ii) What is the function of ionization chamber in mass spectrometer?
(iif) Wirite down limitations of a chemical equation. (iv) How are the crystals dried in a vacuum desiccator?
(v) Whatis R » value? Give its formula.

(vi) Why the graph plotted between pressure and volume moves away from pressure axis at higher temperature.
(vif) What is absolute zero? What happens to real gases while approaching it?
(viii) How does kinetic molecular theory of gases explain Avogadro’s law?
(ix) State Le-Chatelier’s Principle. (x) Define common-ion effect. Give one example.
(xi) Briefly explain the effect of pressure on the equilibrium position for the dissociation of PCl,
(xif) Define an acid and a base according to Lowry-Bronsted concept.
3. Answer briefly any Eight parts from the followings:- 8 x2=16
(i) Sodium is softer than Copper but both are very good conductor of electricity, give reason.
(ii)  Ionic crystals do not conduct electricity in solid state, give reason .
(iii)  Boiling needs a constant supply of heat, give reason.
(iv)  Heat of sublimation of Todine is very high, give reason.
(v)  Bond angle in water is 104.5° instead of 109.5° , give reason.
~(vi)  Reactions between ionic compounds are very rapid, give reason.
(vii) 7 bonds are more diffused than o bonds, give reason.
(viii) Define ionic radii and covalent radii. (ix) Define Lattice enefgy.
(x)  Isittrue that a non-spontaneous process never happen in universe? Explain it.
(xi) The concentration in term of molality is independent of temperature i molarity depends upon temperature, give reason.
(xii) Boiling point of solvents increase due to the pressure of solute, Justify.
4. Answer briefly any Six parts from the followings:- 6 x2=12
()  What are the defects in Rutherford’s atomic model? '

(i) Why does the &/" value of positve rays for different gaseh aferdifferent but those for cathode rays, the &/’ values are same.
(i) Why does the size of He* is much smaller #4181 H-atom atthough both H-atom and He” ion are monoelectronic systems?
(iv)  Differentiate between Pauli’s exclugion principle and Hund’s rule?
(v)  Howis equilibrium set up betWegn metal atoms of electrode and jons of metal in a cell?
(vi)  How does a salt bridge maintainelectrical neutrality in a cell?
(vii) How can impure Cu\bg'purified by electrolytic process?
(viif)  Justify that unit of fate'eonstant of second order reaction is dn’ mole™ 57 but the unit of rate of
reaction is mojéxdm= s~ :
(ix) Why is the radibactive decay, a first order reaction?
Note: Attempt any three questions. Section ———me. [T 8x3=24)
5. (a) Ethylene glycol is used as automobile antifreez. It has 38.7% Carbon, 9.7% hydrogen and
51.6% oxygen. Its molar mass is 62.1 gram mol~'. Determine its emperical formula?
(b) Briefly explain the four properties of metallic crystals.
6. (a) Whatis Joule thomson effect? Explain Linde’s Method of Liquefaction of gases.
(b) Mention four defects of Bohr’s atomic model,
7. (a) Draw shapes of following molecules according to VSEPR theory.
() BeCl, (ii) BF, (iii) NH, (iv) H,0
(b) Explain with diagram how enthalpy of a reaction can be measured by glass Calorimeter.
8. (a) Define common ion effect. Give its two applications.
(b) Give four Industrial Importance of electrolysis process.

9. {(a) The boiling point of water is 99.725 °C . To 3 sample of 600 g of water are added 24 g of a solute

having molecular mass of 58 g mole™, to form a solution. Calculate the bailing point of the solution.
(b) How does Arrhenius equation help us to calculate the energy of activation of a reaction?
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